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Encoding Example:
Suppose we are going to encrypt the word MATH.  First, we need to write this in terms of its numeric representation.

MATH = 12-0-19-7
Let’s say we want a shift of 7.  Then, we add 7 to each of these numbers and obtain

19-7-“26”-14

Since 26 is not a number representation, we actually start back over after 25.  This means, the number 26 is actually the number 0.  

19-7-0-14

Now, we view our key to see where the encoded letters are.

19-7-0-14 = THAO
Decoding Example:
Suppose we are given the letters:
QEROPAXV
and the shift key is given as:

9x=27.
If we divide both sides of the equation by 9, then we obtain the shift key as

x=3.
So, we now convert our encoded message into its numeric representation.

QEROPAXV = 16-4-17-14-15-0-23-21
Since the shift key is 3, we move all of these numbers to the right by 3.

19-7-20-17-18-3-“26”-24 = 19-7-20-17-18-3-0-24
Substitute the appropriate letters in for these numbers and obtain

19-7-20-17-18-3-0-24 = THURSDAY
Today’s Activity:
Decode the messages at the different stations!!!
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